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AEmn R 1 # 2 & 3 & 4 &
A BH| 4,833 6,724 8,673 10,682
F &5 5,940 7,941 10,003 11,012
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Ef&w/ﬁ*wﬁ 1 & 2 & 3 & 4 &
R AHRT 4,833 6,724 8,673 10,682

Al #1& f;: % % (Al 4,833 4,833 4,833 4,833
2| 2R %‘: * (A2) 1,890 1,890 1,890
M %3 e 7 (A3 1,949 1,949
ETY I 2,010

A sl E R w Y B 100,00093% A A FRARM Y P (TREEATALEAALAT * 5 1.80%)

L A& EAFTAEES & 55502 & LS £ b > 7 0 B & o0yeBAp b 3 7 (1.80%)2 ¥ 5]
Al : 100,000%3% + (97,000%1.05)*1.80% =3,000+1,833=4,833
A2 : ((97,000%1.05)-1,833)*1.05%1.80% =100,017*1.05%1.80%=1,890
A3 : ((100,017%1.05)-1,890)*1.05%1.80% = 103,127*1.05%1.80%=1,949
A4 : ((103,127%1.05)-1,949)*1.05%1.80% =106,334*1.05*1.80%=2,010
mEBW G R 1 # 2 E 3 & 4 &
PARTAFHRTE 5,940 7,941 10,003 11,012
F ¥ 1&RF*(F) 5,940 2,940 2,940 2,940
Bl F522R%*(F2) 5,001 3,001 3,001
b 53 ER T *(F3) 4,062 3,062
5 4 &R % 7 (F4) 2,009
Fau3 88 LA FmpH v (TA&EXAFT AR AL RT " %’)ﬁ;qi@wﬁ'gizﬁ(a«; )
BT #: FAEELE ii 5902 # (LARFY A K ¢b > R x §$”T>](B’~#EE«,~§ * (2.80%) 2§25

[

F1

F2:

F3

F4

[

AplY S F s St 82 F P A8 5 3% A2 ERERRE 1% ”Pa;f#f*‘ h - E?QF'%‘?" ) {8
TR B E TR 2% R R A B A a2 R R S TR A B S o e 0
A A ﬁwfﬁ"*@”ﬂ*w R B LY o EREG B B B A o]

* (100,000*1.05)*2.80% +100,000*3%(CDSC) =2,940+3,000 =5,940
((100,000*1.05)-2,940)*1.05*2.80%+100,000*2%(CDSC)=102,060*1.05*2.80%+100,000*2%=3,001+2,000
=5,001

£ ((102,060*1.05)-3,001)*1.05*2.80%+100,000%1%(CDSC)=104,162*1.05*2.80% +100,000*1% =3,062+1,000

=4,062
((104,162*1.05)-3,062)*1.05*1.80%=(106,308*1.05)*1.80% =2,009
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